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funsZ'k& (i) bl Á'u&i= esa dqy 27 Á'u gSaA lHkh Á'u vfuok;Z gSaA  

Directions-   There are in all 27 questions in this question paper. All questions are 
compulsory.   

 (ii) Á'uksa gsrq fu/kkZfjr vad muds lEeq[k vafdr gSaA 

  Marks allotted to the questions are mentioned against them. 

 (iii) ÁR;sd Á'u dks /;kuiwoZd if<+, rFkk leqfpr mRrj nhft,A 

  Read each question carefully and answer to the point. 

 (iv) Á'u la[;k 1 cgqfodYih; Á'u gSA bl Á'u ds ÁR;sd [k.M ds mRrj 

esa pkj fodYi fn, x, gSaA lgh fodYi viuh mRrj iqfLrdk esa 

fyf[k,A  

  Question No.1 is multiple choice question. Four options are given in answer 
of each part of this question. Write correct option in your answer book. 

 (v) Á'u la[;k 1 dk ÁR;sd [k.M ,d vad dk gSA Á'u la[;k 2 ls 9 rd 

,d vad ds Á'u gSaA Á'u la[;k 10 ls 16 rd nks vad ds Á'u gSaA 

Á'u la[;k 17 ls 21 rd pkj vad ds Á'u gSaA Á'u la[;k 22 ls 27 

rd ik¡p vad ds Á'u gSaA 
  Each part of question No. 1 carries one mark. Questions No. 2 to 9 are of 

one mark each. Question No. 10 to 16 are of two marks each. Question No. 
17 to 21 are of four marks each. Questions No. 22 to 27 are of five marks 
each. 

 (vi) bl Á'u&i= esa lexz ij dksbZ fodYi ugha gS rFkkfi dfri; Á'uksa esa 

vkarfjd fodYi Ánku fd;k x;k gSA ,sls Á'uksa esa dsoy ,d fodYi 

dk gh mRrj nhft,A 

   There is no overall choice in this question paper, however, an internal 
choice has been provided in few questions. Attempt only one of the given 
choices in such questions. 

 

1- (a) fuEufyf[kr esa ls vifjes; la[;k gS&        1 

  (i)  22@7  (ii)  𝜋  (iii)   4  (iv) buesa ls dksbZ ugha 

  In the following irrational number is- 

  (i)  22/7  (ii)  𝜋  (iii)   4 (iv) None of them 

 

 (b) f}~?kkr~ lehdj.k 2x
2 
& 4x $ 3 ¾ 0 dk fofoDrdj gS& 1 

  (i) 16  (ii) 24  (iii)  & 8  (iv) 3 
  Descriminent of quadratic equation 2x

2
–4x+3=0 is- 

  (i)  16  (ii)  24  (iii)  – 8  (iv)  3 
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 (c) cot 60
o
 dk eku gS& 1 

  (i)  1  (ii)  
1

 3
 (iii)   3  (iv) vifjHkkf"kr 

  Value of cot 60
o
 is- 

  (i)  1  (ii)  
1

 3
  (iii)   3 (iv)  Not defined  

 

 (d) cgqin x
2
&3 ds 'kwU;dksa dk xq.kuQy gksxk& 1 

  (i)  0  (ii)   3 (iii)   3  (iv) &3 
  Product of zeroes of the polynomial x

2
–3 will be- 

  (i)  0  (ii)   3  (iii)   3  (iv) –3 
 

 (e) fcUnq ¼2] &4½ dh x v{k ls nwjh gS& 1 

  (i)  & 4  (ii)  0   (iii)   2 (iv) &2 
  Distance of point (2, –4) from x axis is- 

  (i)  – 4  (ii)  0   (iii)   2 (iv) –2 
 

 (f) lekUrj Js.kh 4] 10] 16] 22] ----------- dk lkrok¡ in gksxk& 1 

  (i)  32  (ii)  28  (iii)   40 (iv) 34 
  The 7

th
 term of AP: 4, 10, 16, 22, ……… will be- 

  (i)  32  (ii)  28   (iii)   40 (iv) 34 
 

 (g) fuf'pr ?kVuk dh Ákf;drk gS& 1 

  (i)  3  (ii)  2   (iii)   1 (iv) 0 
  Probability of a definite event is- 

  (i)  3  (ii)  2   (iii)   1 (iv) 0 
 

 (h) fn;s x;s fp= esa DE   BC rFkk AD / DB = 2/3 gS] ;fn EC = 6 lseh rks AE dk 

eku gksxk& 1 

  (i)  3  (ii)  4    (iii)   6   (iv) 5 

  In the figure DE    BC and   
AD

DB
=  

2

3  
,  if EC = 6cm, value of AE will be- 

  (i)  3  (ii)  4   (iii)   6  (iv) 5 

 

 

 

 
 

Á-2& 7 lseh Å¡pkbZ rFkk 10 lseh vk/kkj O;kl ds csyu dk vk;ru Kkr dfj,\   1 

Q.2- Find the volume of a cylinder having height 7cm. and base diameter 10 cm. 
 

Á-3& ;fn tan A=
3

5
] rks cos A dk eku Kkr djksA       1  

Q.3- If tan A= 
3

5
 find cos A 

 

Á-4& lekUrj Js.kh 7] 13] 19 ---------------- 205 esa inksa dh la[;k Kkr djksA    1 

Q.4- Find the number of terms of the AP: 7, 13, 19,……205. 

 

Á-5& 3825 dks vHkkT; xq.ku[k.Mksa ds xq.kuQy ds :i esa O;Dr djksA    1 

Q.5- Express 3825 as a product of its prime factors.  
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Á-6& ,d fn~?kkr cgqin Kkr dhft,] ftlds 'kwU;dksa ds ;ksx rFkk xq.kuQy Øe'k% 0 

o  5 gSA            1 

Q.6- Find a quadratic polynomial sum and products of its zeroes are 0 and  5 respectively. 
  

Á-7& ek/;] ek/;d vkSj cgqyd esa lEcU/k fyf[k,A       1 

Q.7- Write the relationship between Mean, Median and Mode. 

 

Á-8& 9 sec
2
A – 9 tan

2
A dk eku D;k gksxk\        1 

Q.8- What is the value of 9 sec
2
A – 9 tan

2
A? 

 

Á-9& fcUnqvksa (a, b) rFkk (–a,–b) ds chp dh nwjh Kkr dhft,A     1 

Q.9- Find the distance between points (a, b) and (–a, –b)  

 

Á-10& HCF (336, 54) = 6 fn;k gSA LCM (336, 54) Kkr dhft,A     2 

Q.10- Given that HCF (336, 54) = 6. Find LCM (336, 54).  

 

Á-11& cgqin 4 u
2
 + 8 u ds 'kwU;d Kkr dhft, vkSj 'kwU;dksa vkSj xq.kkadksa ds chp ds 

lEcU/k dh lR;rk dh tk¡p dhft,A                      2 

Q.11- Find the zeroes of the polynomial 4 u
2
 + 8 u and verify the relationship between the 

zeroes and coefficients.  

 

Á-12& ,slh nks la[;k,a Kkr dhft, ftudk ;ksx 27 gks vkSj xq.kuQy 182 gksA   2 

Q.12- Find two numbers whose sum is 27 and product is 182.  
 

vFkok OR 

k dk eku Kkr djks] ftlds fy, f}?kkr lehdj.k 2x
2
+kx+3= 0 ds nks cjkcj ewy 

ÁkIr gksaA 

 Find the value of k so that the quadratic equation 2x
2
+kx+3= 0 have two equal roots. 

 

Á-13& ,d FkSys esa 3 yky vkSj 5 dkyh xsansa gSaA bl FkSys esa ls 1 xsan ;kn`PN;k 

fudkyh tkrh gSA bldh ÁkFkfedrk D;k gS fd xsan&      2 

 (i) yky gks    (ii) yky ugha gks 

Q.13- A bag contains 3 red balls and 5 black balls. A ball is drawn at random from the bag. 

What is the probability that the ball drawn is- 

 (i) red      (ii) not red. 
 

Á-14& fuEufyf[kr lkj.kh esa x rFkk y ds eku Kkr djks&       2 

Q.14- Find the values of x & y in following table- 
 

in (Term) ckjEckjrk 

(Frequency) 

lap;h ckjEckjrk 

(Cumulative Frequency) 

2 

4 

6 

8 

10 

6 

x 

24 

28 

15 

6 

26 

50 

y 

93 
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Á-15& fl) djks okg~; fcUnq ls o`Rr ij [khaph xbZ Li'kZ js[kkvksa dh yEckbZ cjkcj gksrh 

gSA             2 

Q.15- Prove that the lengths of tangents drawn from an external point to a circle are equal. 

 

Á-16& fn;s x;s fp= esa ;fn LM    CB vkSj LN    CD rks fl) djksA     2 

Q.16- In the given figure if LM    CB and LN    CD prove that- 

 

 
AM

AB
=

AN

AD
 

 

 

   

             vFkok OR 

 

fn, x, fp= esa ;fn ∆ODC ~ ∆OBA, 

LBOC=125
o
 vkSj LCDO=70

o
, LDOC vkSj 

LDCO dk eku Kkr dhft,A 

 In the given figure if ∆ODC ~ ∆OBA,  

LBOC=125
o
 and LCDO=70

o
, find LDOC 

and LDCO. 

 

Á-17&;fn fdlh AP ds ÁFke 7 inksa dk ;ksx 49 gS vkSj ÁFke 17 inksa dk ;ksx 289 gS 

rks blds ÁFke n inksa dk ;ksxQy Kkr dhft,A 4 

Q.17- If the sum of first 7 terms of an AP is 49 and that of first 17 terms is 289. Find the 

sum of first n terms. 

 

Á-18&fl) djks&   
𝑠𝑖𝑛  𝐴

1+𝑐𝑜𝑠 𝐴
+  

1+𝑐𝑜𝑠  𝐴

𝑠𝑖𝑛  𝐴
= 2 𝑐𝑜𝑠𝑒𝑐 𝐴 4 

 

Q.18- Prove that-      
𝑠𝑖𝑛  𝐴

1+𝑐𝑜𝑠  𝐴
+  

1+𝑐𝑜𝑠  𝐴

𝑠𝑖𝑛  𝐴
= 2 𝑐𝑜𝑠𝑒𝑐 𝐴 

 

vFkok@OR 
 

fl) djks& (sin A + cosec A)
2
 + (cos A + sec A)

2
 = 7 + tan

2
A + cot

2
A 

 Prove that- (sin A + cosec A)
2
 + (cos A + sec A)

2
 = 7 + tan

2
A + cot

2
A 

 

Á-19& dksbZ crZu ,d [kks[kys v)Zxksys ds vkdkj dk gS] ftlds Åij ,d [kks[kyk 

csyu v/;kjksfir gSA v)Zxksys dk O;kl 14 cm gS vkSj bl crZu dh dqy Å¡pkbZ 

13 cm gSA bl crZu dk vkUrfjd i`"Bh; {ks=Qy Kkr dhft,A 4 

Q.19- A vessel is in the form of a hollow hemisphere mounted by a hollow cylinder. The 

diameter of the hemisphere is 14 cm. and the total height of the vessel is 13 cm. Find 

the inner surface area of the vessel. 

vFkok OR 
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 nh xbZ vkÑfr esa Nk;kafdr Hkkx dk {ks=Qy Kkr djks] ;fn dsUnz 0 okys nksuksa  

dsUnzh; o`Rrksa dh f=T;k,a Øe'k% 7 cm rFkk 14 cm gS rFkk L𝐴𝑂𝐶 = 40𝑜 gSA     4 

 Find the area of the shaded region in figure, if ratio of the two concentric circles with 

center O are 7cm. and 14cm. respectively and LAOC=40
o 

 

 
 

Á-20& fcUnqvksa (–3, 10) vkSj (6, –8) dks tksM+us okys js[kk[k.M dks fcUnq (–1, 6) fdl 

vuqikr esa foHkkftr djrk gS\ 4 

Q.20- Find the ratio in which the line segment joining the points (–3, 10) and (6, –8) is 

divided by (–1, 6). 

 

Á-21& lehdj.kksa dks gy djks&  0.2x + 0.3y = 1.3         4 

 0.4x + 0.5y = 2.3 

Q.21- Solve the equation-         0.2x + 0.3y = 1.3 

     0.4x + 0.5y = 2.3 

 

Á-22& 7m Å¡ps Hkou ds f'k[kj ls dscy Vkoj ds f'k[kj dk mUu;u dks.k 60
o
 gS vkSj 

blds ikn dk voueu dks.k 45
o
 gSA Vkoj dh Å¡pkbZ Kkr dhft,A 5 

Q.22- From the top of a 7m. high building, the angle of elevation of the top of a cable tower 

is 60
o
 and angle of depression of its foot is 45

o
. Determine the height of the tower. 

vFkok OR 

 ,d 80m pkSM+h lM+d ds nksuksa vksj vkeus&lkeus leku yEckbZ okys nks [kEHks 

yxs gq, gSaA bu nksuksa [kEHkksa ds chp lM+d ds ,d fcUnq ls [kEHkksa ds f'k[kj ds 

mUu;u dks.k Øe'k% 60
O
 rFkk 30

O
 gSa] [kEHkksa dh Å¡pkbZ vkSj [kEHkksa ls fcUnq dh 

nwjh Kkr dhft,A            5 

 Two poles of equal heights are standing opposite each other on either side of the road, 

which is 80m. wide. From a point between them on road, the angle of elevation of the 

top of the poles are 60
o
 and 30

o
, respectively. Find the height of the poles and the 

distance of the point from the poles. 

 

Á-23& ,d o`Ÿk ds ifjxr ,d prqZHkqt ABCD [khapk x;k gSA     

 fl) dhft, AB + CD = AD + BC         5 

Q.23- A quadrilateral ABCD is drawn to circumscribe a circle. 

` Prove that- AB + CD = AD + BC 
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Á-24& ,d ledks.k f=Hkqt dh Å¡pkbZ blds vk/kkj ls 7cm de gSA ;fn d.kZ 13cm dk 

gks] rks vU; nks Hkqtk,a Kkr dhft,A    5 

Q.24- The altitude of a right triangle is 7cm. less than its base, if the hypotenuse is 13cm. 

Find the other two sides. 

vFkok OR 

 f}?kkr lehdj.k 3x
2
 – 4 3𝑥 + 4 = 0 ds ewyksa dh ÁÑfr Kkr dhft,A ;fn ewyksa 

dk vfLrRo gks rks mUgsa Kkr dhft,A        5 

 Find the nature of the roots of the quadrate equation 3x
2
 – 4 3𝑥 + 4 = 0, If the real 

roots exists, find them. 
 

Á-25& fuEufyf[kr ckjackjrk caVu ds fy, ek/;d Kkr dhft,& 5 

Q.25- Find the median for the following data. 

oxZ vUrjky 

(Class Interval) 
20–30 30–40 40–50 50–60 60–70 70–80 80–90 90–100 

ckjEckjrk 

(Frequency) 
4 12 14 16 20 16 10 08 

 

Á-26&fl) dhft, fd ;fn fdlh f=Hkqt dh ,d Hkqtk ds lekUrj vU; nks Hkqtkvksa dks 

fHkUu&fHkUu fcUnqvksa ij ÁfrPNsn djus ds fy, ,d js[kk [khaph tk,] rks ;s vU; 

Hkqtk,as ,d gh vuqikr esa foHkkftr gks tkrh gSaA 5 

Q.26- Prove that if a line is drawn parallel to one side of a triangle to interest the other two 

sides in distinct point, the other two sides are divided in the same ratio. 

 

Á-27& ,d crZu mYVs “kadq ds vkdkj dk gSA mldh ÅapkbZ 8 lseh gS vkSj blds Åijh 

fljs ¼tks [kqyk gqvk gS½ dh f=T;k 5 lseh gSA ;g Åij rd ikuh ls Hkjk gqvk 

gSA tc bl crZu esa 'kh'ks dh dqN xksfy;ka] ftuesa çR;sd 0-5 lseh f=T;k okyk 

,d xksyk gS] Mkyh tkrh gS] rks blesa ls Hkjs gq, ikuh dk ,d pkSFkkbZ Hkkx ckgj 

fudy tkrk gSA crZu esa Mkyh xbZ 'kh'ks dh xksfy;ksa dh la[;k Kkr dhft,A  5 
 

Q.27- A vessel is in the form of a inverted cone. Its height is 8 cm and the radius of its top, 
which is open, is 5 cm. It is filled with water upto the brim. When lead shots, each of 
which is a sphere of radius 0.5 cm. are dropped into the vessel, one-fourth of the 
water flows out.  Find the number of lead shots dropped in the vessel. 

vFkok OR 

Å¡pkbZ 2-4 cm. vkSj O;kl 1-4 cm. okys ,d Bksl csyu esa ls leku Å¡pkbZ vkSj blh 

O;kl okyk ,d 'kaDokdkj [kksy dkV fy;k tkrk gSA 'ks"k cps gq, Bksl dk fudVre 

oxZ lsUVhehVj rd i"̀Bh; {ks=Qy Kkr dhft,A                             5 

 From a solid cylinder whose height is 2.4 cm. and diameter 1.4cm, a conical cavity of 

the same height and same diameter is hollowed out. Find the total surface area of the 

remaining solid to the nearest cm
2
. 

 

***** 


